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Chapter 6
Reading Organizer
After completion of this chapter, you should be able to:

· Describe and plan a network using OSPF

· Design and configure a network using single-area OSPF

· Work with multi-protocol environments

6.1
1.  OSPF is a classless interior gateway protocol (IGP). It divides the network into different sections, which are referred to as areas.   Explain the advantages to this.

2.   Explain how Link-state routing protocols, such as OSPF, differ from distance vector protocols.

3.  Compare distance vector protocols and, link-state routing protocols and list the differences: 


d.
4. 
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5.  Explain in detail what OSPF bases its cost metric on for an individual link. 

6.  When does convergence occur on routers in a network running OSPF?

c.
7.  OSPF routers establish and maintain neighbor relationships, or adjacencies, with other connected OSPF routers.   Explain what adjacency is and how it works.

8.  When do routers reach a FULL state of adjacency?

9. The router goes through several state changes before becoming fully adjacent with its neighbor.  List and explain each state.

a. ___________________________ -

b. ___________________________ -

c. ___________________________ -

d. ___________________________ -

e. ___________________________ -

f. ___________________________ -

10. The OSPF Hello protocol is used to initially establish and maintain adjacencies. The hello protocol sends very small hello packets to directly connected OSPF routers.  What address used to send these updates?

11. What is the purpose of the DR and BDR in an OSPF network?

. 
12. How does OSPF accomplish this? (question 11)

13.  What address does the DR receive updates on about link problems on the network?
13.  What address does the DR send updates out on?

14.  How is the DR and BDR elected?

15. The router ID is an IP address that is determined by what factors:

a. 
b. 
c. 
16. In some cases, an administrator may want specific routers to be the DR and BDR. These might be routers with more processing power or lighter traffic load. An administrator can force the DR and BDR election by configuring a priority using the interface configuration command.  What command would be used?

17. List the three Link types identified by OSPF:

18. Of the three types of OSPF Links which one requires a DR election?

19.
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20. What is the default OSPF network Area number?

21. 
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6.2

22. What commands do you use to set up OSPF on your router?

23. Explain how to determine the wildcard mask?

24.  Determine the subnet mask and wildcard mask required to advertise the specified network assresses in OSPF.
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Complete Lab Activity 6.2.1.4
25.  Explain in detail a potential security problem with OSPF.

26. Explain the solution that is available for this problem?

Complete Lab Activity 6.2.2.2

27. List and explain the four methods routers use to determine the DR in the order of priority.

a. _____________________________________ -
b. _____________________________________ -

c. _____________________________________ -

d. _____________________________________ -

Complete Lab Activity 6.2.3.2

28. Another parameter related to the OSPF cost metric is the reference bandwidth.  What does this calculate?

Complete Lab Activity 6.2.3.5

29.  If the router ID of the neighboring router is not displayed, or if it does not show a state of FULL, what does this mean?  Explain.

30.  Two routers may not form an OSPF adjacency if:


d.

31.  Answer the following questions based on the following show ip route command output.
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a. How many networks were learned by OSPF?

b. What is the administrative distance for OSPF routes?

c. How many subnets are there for the 172.16.0.0 network?

d. What is the metric for the path to the 192.168.10.4 network?

Complete Lab Activity 6.2.4.4
6.3

32. List the commands required to configure a router to distribute a default route into the OSPF network? 

Complete Lab Activity 6.3.1.3

33.  What is the supernet addressesand CIDR if you summarize the following addresses?


210.50.0.0/24

210.50.1.0/24

210.50.2.0/24

210.50.3.0/24
Answer: __________________________________

Complete Lab Activity 6.3.2.2
34. List the advantages of using OSPF.

a. 

b. 

c. 

d. 

e. 

f. 

g. 

h. 

i. 

34. List the disadvantages of using OSPF.


a. 

b. 

c. 

d. 

35. What are the default administrative distances for the following protocols?


Static

________________

Internal EIGRP 
________________


OSPF

________________


RIP

________________
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